T(IT)-Arabic-G-3

2021
ARABIC — GENERAL
Third Paper
Full Marks : 100

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words

as far as practicable.

1. Answer any twelve questions of the following :

(a)
(b)
(©
(d)
(e)
(0
(2
(h
(i)
)
(k)
)

Who was cpdulall -y e 2

Who is called Jo) £L3?

What is the meaning of ) =) 9 & 500l 2

Name two ¢ 2> poets.

Write full name of :5.,.,‘,)\ in Arabic.

What do you maen by s Ol 9> 9 6&: L:;ﬂ,oj?
Who wrote L 50 LT

Who was s does ?

Who is called “ o) sLs 77

“Glb gellal O a5 (sl 108" What do you mean by s>l JI?
What is the meaning of a9

When and where -\ 5 ¢3¢ occurred?

Please Turn Over

2x12=24
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(m)  Who wrote “&g =) axllt OLL JI>= "2
(n)  What is the old name of “3, swoJ) Zydal) 72

(0)  Who are called s ,Lai?

2. Translate any two of the following into English or Bengali: 10x2=20

()

Lo S Ll el S LoslsTalasy s el e JLy Lo

¥ el by e o Ll ol gl e e 5>

Bl i Sellie o el s

syY\;.waﬁaa_uJ\_: ?(._@.A_um_:.x_&_!\_:ﬂ.x_x_:v_‘s\

Sagel (o) Yl 2 sl g g e il y
(<)

Y Sl y s PSS A Y W P S

sl sy s Lo eJeddd e

s e I T e S U YO P

e Ul S L Latls el s S (5,

N U ) | B J W A Sy ldde s,
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@
WO U SV SRV I viS WS s oot S
I Tl = S gt e e TS
T SR [P W gy, L s
s eV 5 OLS Vs ke g S Y DU W S W P
Ao o I S5m0 o e s e
3. Explain with reference to the context any two of the following: 10x2=20
()

(<)

J—s"j@jr—%—"qij—sj

‘)jj'_;js_y 3 AJ*S 2 “;i}
@
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oS g M )L S s )
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Ll sl 5 b el oy
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4. Answer any three questions of the following: 7x3=21
(a) Write the summary of the poem “Lé 50 L1 .
(b) Show your acquaintance with .U - OLw> and his poetry.
(c) Write the gist of “4y =l 4l 0L J1=7, \
(d)  Write the salient features of the poem “ JI sall 9 & aall ans” .
()  Writet the main theme of “%i&d\ & JB7
5. Write short notes on any two of the following. 72%x2=15

O - PE )
sl (<)
ekl 1350 ) ()

35,4 ()




